
Math 08 - Unit 2 Review ASSIGNMENT
Operations Involving Integers

It is assumed that you have completed the lessons and practice
questions before attempting this assignment.

Math communication is being assessed. Show all work.

Assessment:
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1. Identify the number category that each of the following numbers belong to by marking an “X”

in the appropriate box.

Number
Natural
Numbers

Whole
Numbers

Integers

1 -543
2 132
3 0
4 2217
5 -14,000

2. Solve the following.

a. 6 + (−2) =  ______ b.   (−7) + 10 =  _______ c.  17 + (−9) =  _____

d. (−4) + (−5) = ______ e.   8 + (−3) + 7 =  ______ f.  (−6) + 3 + (−2) =  ______

g. 5 – 9 =  ______ h.  −9 – (−10) =  ______ i.  0 – (−7) =  ______

j. −3 – 3 =  ______ k.  8 – (−8) =  ______ l.  (−6) + 3 − (−2) =  ______

3. Solve the following.

a. (−4) x 6 =  ______ b.   (−11) x (−2) =  ______ c. (−3) x (+5) x 4 =  ______

d. (−2) x (−4) x (-5) =  ______ e.  (−27) ÷ (−9) =  ______ f.  (−104) ÷ 13 =  ______
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4. Find the pair of integers whose

a. Sum is 5 and product is −14. __________

b. Difference is −4 and product is −21. __________

5. Simplify the following.

a. b. c.

d. e. f.

6. Farrokh reported that the coldest day on record for his town was five times colder than
yesterday’s temperature, –3°C. What was the temperature of the coldest day on record in Felix’s
town?
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7. At 6:00 pm the temperature was 12℃. If the temperature drops 3℃ per hour, what was the
temperature at 11:00 pm?

8. Solve each expression using the correct order of operations.

a. 6 + 15 ÷ 3 =

b. 5 + 6 × 6 =

c. 9 ÷ (4 – 1) =

d. (−1) – [(−16) ÷ 8] – 4(−1) =

e. (−4) + 5 – 9 –[(−1) – (−5)] – 6 =

f. 10 × (−5) + (−6)2 =
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g. (−3)3 − (−8) × [5 + 6 ÷ (−3)] =

h. [(−4)3 − (−5)] × [(−6) ÷ [5 + (−7)]2} =

i. {(−2)2 × [3 – (−6) + (−9)]2} ÷ 7 =
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